P A 0 R B¥EE O®W
BF20m HAfAL—R T 10:35 ZF200m  FAAL—A T 10:30
14 2407 +8 JE3 +1.7 14 241035+8 JEH -1.5
L=y rn— K4 7)) P FE Mz JEAL i i L=y rn— K4 7)) Fr s FE Ak JEAL i i
1 1
2 3362 %M N vage EHT R 1 30.95 6 2 5854  AFEL A& sHN 7V WONRERC 1 31.10 4 q
3 1287 VIR R RIS E2i Lt 3 DNS 3 168 W #HL 70F Uk B4 2 29.77 3 a
4 5835 RAAK HIE wEb vavy(  AEJr gt 29. 89 4 q 4 5846 HIl HEJHE <IhU Ay WHAERC  J3 26,96 1 q
5 2392 FHEOEER M MEr Wk 2 26. 59 3 q 5 2458 PRK BEEE AWV U BIRH 1 29.13 2 a
6 2091 Rili EAZ AT Preh AT 2 24.50 1 a 6 170 PR REE PAtTa YA R 2 DNS
7 5388 HTI A vF97 2o PBASE J3 25.37 2 q 7
8 3137 @M A 77y AN SRR 1 30.72 5 a 8
248 JEHE +0.9 2 TR +0. 6
L=y rn— K4 PN P FE Mz [t L=y rn— K4 PN Fr FE Ak JEAL i i
1 1
2 3361 PEHE —F =y IRTv BT 1 29. 50 3 q 2 2082 WHH EA T G PRy e 3 DNS
3 3 1295 JRE EFT o wbak) ZET 3 27.77 1 aq
4 3115 (L& ek teE) vy B EH 3 4 1294 HAT BIRE VTR ZET 3 29. 22 3 a
5 5845 k% Myeodty @HARERC J3 25,95 1 q 5 2902 =g HERE W MY EFnH 1 28.47 2 q
6 5853 R 242 viw b7 WHBRERC ]2 27.49 2 q 6 3153 JETT E#ERE 97 A4) RS T 1 36.15 4 aq
7 3146 R ORI U hAv RERES RS 1 32.15 4 7
8 8
RE 15:35 JE3 +0.7 7S 15:30 JE3 +0. 6
L= u— K4 PN P B Mz JIEAT. L=y rn— K4 PN B FE Ak JEhE
1 3137 @M A 77y AN SRR 1 DNS 1 3153 JETT EERE 97 b4)  AEEEA T 1 DNS
2 5835 RAAK HIE wEb vavyl  AEJr 71 31.19 6 2 5854  AFHEE A sHN 77 @OARERC 1 DNS
3 2392 FIE OEER M MEr Wk 2 26. 46 3 3 2458 Pk EUE Py v SR 1 DNS
4 5845 k% Mveodty @HARERC J3 0 25.98 2 42902 ZdEOHERE W MY EFnH 1 29.23 2
5 2091 Rili EAZ AT Preh AT 2 24.42 1 5 5846 i)l HEJHFE vIh U AV @HHAERC 3 26. 71 1
6 5388 HTI A vF97 2o PBASE 73 DNS 6 1295  JIRES HJH o rwbak) ZET 3 DNS
7 5853 R 242 viw b7 $HBERC ]2 27.92 4 7 1294 HAT ZRARE UATHRY ZET 3 29. 52 3
8 3361 PEHE —F = IRTv BT e 1 29. 65 5 8 168 HA F 777 )R s 4 2 DNS



